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. | EBESEHA 58.2 kW
§; t 2 = 1000 L/h <*1>
w5 B E 50~80 °C <*1>
fr & = 600 L
B & & @ & 175 m?
| ZEERER 0.1 Mpa
& & W 18 AR NHHE
i Y = OM1N1U-052
I ENBBRAEATN—F
#| A Xk FH K TREEBA/NN—IHR
< REREE AFD
Wl @ A K ON-OFF 4|
| z 5 & 0.15 kW
+ e xT i 7 L/h <x2>
mEARE A S A 6.6 L/h <*2>
ERBE-BAEH AC100V Ei#H-50/60Hz
H & B A (50/60Hz) 0.25 kW / 0.26 kW
B EEEOR @173 mm (4MR)
n Ol E R = 100 m°N/h
WwaO-HKOTE 360 mm X 360 mm
2 5 H = 345 kg
B & #H = 945 kg
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1. RP<*1>DREF, EFEESOCTEELTVFET,

2. RP<*2>(F, FRRODEETHELTVES,

PRFL XT3 AEfH
EHEH= (MJ/kg) 46.3 -
BRH2=E (MJ/kg) - 427
HE (g/cm®) 0.8 0.86
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